[ 253 &
4 fn 6 &£ 3 B 22 H

ik Els i) B -
YT~ S B I OWTHREL FIE TR T F 19435 H
ERROBRBEFB-OTERMLET, MTPHAFKEKERERER R
K B R E R FEC & ox w

% 7 H RlEHxEX|EXEIN| E R KB g T
& il Bl S E X E oK ol 3 £ K
B Vs F A A R6. 3. 18 R6. 3. 18 R6.3.18 R6.3.18 R6.3.18
23 & & i = BB L B M A
it B A OE OB | ok E B | Kk EBR|KEBR| K ER
x 153 B h m h - S g - S ¢ m n
& B (T) 10.5 10.5 10.5 10.5 10.5
A& B (C) 12.5 11.0 12.5 13,0 12.5
— % A B (al &) 0 0 0 0 0
K 5 ] Raft (=344 =35 =4 (=13
B ok W A4 A v (w/l) 4.8 5.3 4.7 7.9 4.9
FHYHE (T0CO &) () 0.3 Kk 0.3 i 0.3 K 0. 48 0.3 Hit
pH & 7.04 6. 82 7.05 7.52 7.16
R = RERZL B¥RiL BEhkL BERL BERL

S B¥L BELL BERL BERL BERL
& B (E) 0.5 ¥ 0.5 FKit 0.5 K¥H 0.5 K 0.5 i
& E (%) 0.2 K 0.2 FKi 0.2 KW 0.2 AW 0.2 #¥i
e E i i i i i
% & # A SF6HEIAIBA ~ HF643IA22HA
® & B 1 HPHIFAERXEREE v ¥ —
% = = 53 & e BT




moRm s
4 6 £ 3 B 22 H

263 &

R Ela BT B OB
WET~RH Sh BB >V TRE L TR0 By AR T B 19433 Ht
RRROBBEBOTERNLET, FTHEKEKEREDBS K
K E B E & R EFE( & & 0w )

B® X 1 R| & ¥ 4 7 JI X R |BWHKB|BR4ER
& | E X =S E K E ok S
B 7K # A B R6. 3. 18 R6. 3. 18 R6. 3. 18 R6. 3. 18 R6.3. 18
£ x & B % JE 7moE e R = BE
BF & A E R | Ak HE OB | K E B | K EBR| KER
X & B h B h N B B
= " (T) 10.5 10.5 10.5 10.5 10.5
il B (T) 12.0 12.5 13.0 12.0 13.0
— % ] B (ol %) 0 0 0 0 1
X H& # e Ratt: =3k Rt (=3
B Ok B A4 F v (el 5.0 5.3 7.9 4.1 3.8
A% (T0C0 &) (el 0.3 R 0.3 ki 0.50 0.40 0.55
pH & 7. 40 6. 94 7.53 7.27 7.07
B = BEERL RERL BEARL AERL BERL

S BERL BERL Byl BERL Bl
& B o) 0.5 R 0.5 i 0.5 K 0.7 1.2
B B o(E) 0.2 FiK 0.2 Him 0.2 H¥ 0.2 R 0.2 ik
H € i i i i H
® ® # ] HF6EIAIBA ~ TF6FEIA2A
® & # 5} HMPHARKEREREE v ¥ —
® &= b= £ £ BHE BT




[ 253 &
4 fn 6 £ 3 A 22 H

A it ) P -
YEF~EH I h R > W TRE L FRBTMREFF1943F H
RERORBEXBLOTEMNLET, T KEXERERES R
K E B E K R E(C R & w0

&% i ##h R|ZBHBBAK|IZHRETFA| E ) Ak T X B
& bl £k E K E ok E oK E oK
£ S F H H R6.3. 18 R6. 3.18 R6. 3. 18 R6. 3. 18 R6. 3. 18
£&® o & & % e B -5 - 7 - =
i) B A oE | Kk EBR | K EBR|KER| KER
x 1% B h B h B h B h i g
= i’ (e 10.5 10.5 10.5 10.5 10.5
i BT 1.0 13.0 12.0 1.5 12,5
— i ] B Gul %) 0 0 0 0 0
K 15 [ (=4 RatE =353 e (£3¢3
B t B A4 A ¥ (/L) 3.8 5.1 5.1 5.0 4.4
EHWME (O &) (mel) 0. 40 0. 63 0.3 it 0.31 0.51
pH & 7.49 7.56 7.53 7. 61 7. 60
B £ BHERL BEEL BEAeL RERL RERL

7S BERL BERL BHEl2L BRERL BERL
& E (E) 0.5 A 0.6 0.5 K 0.5 i 1.0
] BE () 0.2 Hi 0.2 HKif 0.2 A 0.2 HKi 0.2 Kk
H E i i i H H
® i # H ST6HEIAIIBE ~ SMEEIA2HA
] = i 5] MPHAFARKEAREREYE V¥ —
% =" b= £ & ER BT




L) it

i)

' #%

WEF~RH S o BT YW TRE L
ERRDOERELB-OTRALET,

=R BT R AT 6 1943F 1
EPHFACERERERSESR

X B B E R EC 2 £ m )

B x i Al B N
& Al oK
23 yid & H R6. 3. 18
23 pi & - B
BT B K oiE R
x {23 B h
& " () 10.5
o B () 10.5
- i #a B (ol o) 0
X % ] (=35
H O B 4 A v (wi) 4,9
HHE % (TCD &) () 0.35
pH 1 7.59
5 B! BELL

R BEL
& E (E) 0.5 i
B EO(E) 0.2 i
| E i
® & # H SM6HEIPIBE ~ HTEFE3H22H
s 3 & B | P ARKEAREREE V¥ —
% & =1 £ & e




R ) 253 &
4 fe £ 3 A 22 H

2} Eld T ' %
YET~EH IR W TRE L 0 TR B FF 19433 M
REROBEBRER-OTEHNLET, T A KEKERERBSR
K B B OE B R EC 2 % m )

&= & He K| B & % B2 ) B ¥ B x &
& Al E K # & * E #*
23 pis F A H R6. 3. 18 R6. 3. 18 R6. 3. 18 R6.3.18 R6.3.18
&% i & Gl el 7 N S 1 N 1 -
B = K oE R | kBB | Kk E B | KEBR| KER
x 3 W h A g H B h B h
= B (T 10.5 10.5 10.5 10.5 10.5
il B () 13.5 13,0 13.0 12.5 13.0
— & B B (L %) 1 0 0 0 0
x 5 i =33 =3k (3 =i =3k
®w ot B A4 F ¥ (w/l) 4,0 3.5 5.0 5.0 4.4
HEH¥WmE (TCo &) (/) 0.31 0.39 0. 43 0.42 0.32
pH & 8,03 7.33 7.36 7.25 7.51
B = BRERL BERL BERL RERL BERL

B BRERL BERL BRERL BERL BERL
£, E () 0.5 M 0.8 0.5 it 0.5 i 0.5 Fii
B B OCE) 0.2 Hi 0.2 HH 0.2 K7 0.2 H 0.2 ¥
# E i e i i #
B H # ] 4fe#E3IA18A ~ HMEEIH22H
i x H 3] HPHFRKEKRKEREE V¥ —
% = =1 £ & R BT




R E 253 &
4 %1 6 £ 3 B 22 H

L) it HT EES
YT~ EH IR REHZ DWW TRE L FE TR T F 19435 Ht
RERROBBER/-OTEMLET, BT KEREREGH#ES R
K E B E F R F o»2 & w0
23 Vi Hh A 2 k o ® #
i o1 L *# & * &
&% VS 2 A A R6. 3. 18 R6. 3. 18 R6. 3. 18
% & & gl el B 1 e g
B =) A GE B | K E BR[| KER
x % B h L o B
K |\oe) 10.5 10.5 10.5
PiS B (T 12.5 12.5 13.0
— i b & (L ) 0 0 0
N 5 23] =3k (=44 =3k
w o B A A (/) 4.4 4.5 4.5
HHEEH%E (TOCD’) (/L) 0.30 0.36 0. 36
pH & 7.62 7. 45 7.53
= K EEiL Byl BELRL
R BERL BERL BE2L
& EoCE) 0.5 KW 0.5 i 0.5 HKif
B E () 0.2 ik 0.2 ks 0.2 i
) E i pici i
% = # A 4feEIAI8A ~ HFME6FEIA22A
R & B 5] EFHAFAREREREE ¥ —
% = = (=5 & EE BT




